Chapter 5 Money

Rupees and Paise (Text Book Page No. 36):

Question 1. Convert the following rupees into paise.

Rupees	paise	Rupees	paise
1		6	
2		7	
3		8	
4		9	
5		10	

Answer:

Rupees	Paise	Rupees	Paise
1	100	6	600
2	200	7	700
3	300	8	800
4	400	9	900
5	500	10	1000

Add the following (Text Book Page No. 37):

 ${\bf Question}\ 1.$

Question 2.

Answer:

Question 3.

Question 4.

Answer:

Question 5.

Question 6.

Answer:

Subtract the following (Text Book Page No. 37):

Question 1.

Question 2.

Answer:

Question 3.

Question 4.

Answer:

Question 5.

Answer:

Question 6.

Answer:

Exercise (Text Book Page No. 38):

Question 1.

Sengothai bought a school bag for $\ref{210.30}$ and a sports shoe for $\ref{260.20}$ find the amount to be returned by the shopkeeper if she has paid five hundred rupees to the shopkeeper.

Answer:

Adding rupees:

School bag = 210.30 (+)Sports shoe = 260.20Total cost = 470.50

210.30 (+) 260.20 470.50

Subtracting rupees:

```
Sengothai paid = 500.00
Total cost = (-) 470.50
Shopkeeper has to return = 29.50
```

500.00 (-) 470.50 29.50

Question 2.

Kumaran's father asked him to get a change for ₹ 200 from his uncle. If his uncle gave him a hundred rupee note and a fifty rupees note. How much more his uncle has to give him? **Answer:**

Adding rupees:

1 hundred rupees = 100.001 fifty rupees = (+) 50.00 Total = 150.00

100.00 (+) 50.00 150.00

Subtracting rupees:

Father gave = 200.00Uncle returned = 150.00More uncle need to give him = 50.00

200.00 (-) 150.00 50.00

Rate Charts and Simple Bills:

Question 1.

The following are the items eaten by Raju and his family. Fill in the blanks using the given bill.

HOTEL foods						
Bill No	Bill No: 32 Date: 30,10,2019					
5.No	Food items	Quantity (in Nos)	Price (in ₹)			
1	Rava Dosai	4	200.00			
2	2 Masala vadai 4		20.00			
3	Poori	90.00				
	Total Ar	310.00				

i. Name of the Restaurant Answer: Hotel foods
ii. Bill number Answer: 32
iii. bate of the bill Answer: 30.10.2019
<pre>iv. Total number of items eaten</pre> Answer: 3
v. Total amount of money to be paid Answer: 310

Question 2.

Complete the given bill and find the total amount to be paid.

	Feel good garments						
Bill No	Bill No: 82 Date: 5.11.201						
5.No	Items	Rate (in ₹)	Quantity (in Nos)	Price (in ₹)			
1	Saree	350.00	2				
2	Shirts	200.00	2				
3	Jeans	700.00	1				
4	Towel	50.00	2				
5	Shawl	100-00	1				

15,185	Feel good garments						
Bill No:82 Date: 5.11.2							
S.No	Items	Rate (in ₹)	Qauntity (in Nos)	Price (in ₹)			
1	Saree	350.00	2	700.00			
2	Shirts	200.00	2	400.00			
3	Jeans	700.00	1	700.00			
4	Towel	50.00	2	100.00			
5	Shawl	100.00	1	100.00			
		Total Amour	nt	2000.00			

	Feel good garments						
Bill No: 25 Date: 6.11.20							
5.No	Items	Rate (in ₹)	Quantity (in Nos)	Price (in ₹)			
1	Dhothi	250.00	1				
2	Skirt	300.00	2				
3	Shirt	150.00	4				
4	Saree	500.00	3				
5	Tops	220.00	3				
	Total Amount						

July 19		Feel goo	d garments		
Bill No	25		Dat	te: 6.11.2019	
S.No	Items	Rate (in ₹)	Qauntity (in Nos)	Price (in ₹)	
1	Dhothi	250.00	1	250,00	
2	Skirt	300.00	2	600.00	
3	Shirt	150.00	4	600.00	
4	Saree	500.00	3	1500.00	
5	Tops	220.00	3	660.00	
		Total Amoun	i e	3610.00	

Eat good provisions							
Bill No: 1045 Date: 6.11.2019							
5.No	Items	Rate (in ₹)	Quantity (in Nos)	Price (in ₹)			
1	Turmeric Powder	25:00/Pack	2				
2	Rice	2					
3	Urad dhal	80·00/kg	2				
4	Sugar	42·00/kg	4				
5	5 Tamarind 110·00/kg 1						
	Total Amount						

Answer:

THE ST		Eat good pro	ovisions	
Bill No	:1045		Date	: 6.11.2019
S.No	Items	Rate (in ₹)	Qauntity (in Nos)	Price (in ₹)
1	Turmeric powder	25.00/pack	2	50,00
2	Rice	55.00/kg	2	110.00
3	Urad dhal	80.00/kg	2	160.00
4	Sugar	42.00/kg	4	168.00
5	Tamarind	110.00/kg	1	110.00
	To	tal Amount		598.00

Question 3. Prepare Bills for the items purchased using the given rate chart.

Ra	Rate Chart in a stationary shop					
1.	Pen	₹. 20.00				
2.	Pencil	₹. 10.00				
3.	Chart	₹. 5.00				
4.	Eraser	₹. 10.00				
5.	Sharpener	₹. 5.00				
6.	Sketch pens	₹. 50·00				

i. Ramya bought two pens three erasers and a sketch packets. Prepare a bill for her purchase.

Answer:

	Balu Pen- Pencil shop					
Bill No:15 Date: 17.11.2						
5.No	Items	Rate (in ₹)	Quantity (in Nos)	Price (in ₹)		
1	Pens	20.00	2	40.00		
2	Erasers	10.00	3	30.00		
3	Sketch pens	50.00	1	50.00		
		Total Amount		120.00		

ii. Ravi bought an eraser a sharpener and two pens. Prepare a bill for his purchase. **Answer:**

Balu Pen-Pencil shop				
Bill No:19			Date: 17.11.2019	
S.No	Items	Rate (in ₹)	Quantity (in Nos)	Price (in ₹)
1	Eraser	10.00	1	10.00
2	Sharpener	5.00	1	5.00
3	Pens	20.00	2	40.00
Total Amount				55.00